Number of Supplier participated:	3						
Awarded Yes	Supplier	Event - Lot Title	Bid Quantity	Price (SGD)	Total Bid (SGD)	Awarded Quantity (SGD)	Awarded Spend (SGD)
	SPORTS AND WELLNESS PTE. LTD.						
		Provision of 1 lifeguard after operating hours (2 hours)	4	16.49	65.95	4.00	65.95
		Provision of 1 lifeguard after operating hours (min. 3 hours)	4	16.49	65.95	4.00	65.95
		Provision of 1 lifeguard during operating hours (2 hours)	4	16.49	65.95	4.00	65.95
		Provision of 1 lifeguard during operating hours (min. 3 hours)	4	16.49	65.95	4.00	65.95
		Management & Manpower Services at NTU North Hill Gym Year 1	12	5,400.00	64800	12.00	64800
		Provision of 1 lifeguard during operating hours (per month)		5,572.25	22289	4.00	22289
		Option: Management & Manpower Services at NTU North Hill Gym Year 3	12	5,500.00	66000	12.00	66000
		Provision of 1 lifeguard during operating hours (1 hour)	4	16.49	65.95	4.00	65.95
		Provision of 1 lifeguard after operating hours (1 hour)	4	16.49	65.95	4.00	65.95
		Management & Manpower Services at NTU North Hill Gym Year 2	12	5,400.00	64800	12.00	64800
		Option: Management & Manpower Services for Lifeguarding Duties at NTU	10	17 217 00	205504	12.00	200504
		Swimming Pool Year 4 Management & Manpower	12	17,217.00	206604	12.00	206604
		Services for Lifeguarding Duties at NTU Swimming Pool Year 1	12	16,224.00	194688	12.00	194688
		Option: Management & Manpower Services at NTU North Hill Gym Year 4	12	5,500.00	66000	12.00	66000

Awarded	Supplier	Event - Lot Title	Bid Quantity	Price (SGD)	Total Bid (SGD)	Awarded Quantity (SGD)	Awarded Spend (SGD)
Yes	SPORTS AND WELLNESS PTE. LTD.	Option: Management & Manpower Services for Lifeguarding Duties at NTU Swimming Pool Year 3	12	16,880.00	202560	12.00	202560
		Management & Manpower Services for Lifeguarding Duties at NTU Swimming Pool Year 2	12	16,548.00	198576	12.00	198576
No							
	Abvolution Wellness						
		Provision of 1 lifeguard after operating hours (2 hours)	4	30.00	120	0.00	0
		Provision of 1 lifeguard after operating hours (min. 3 hours)	4	30.00	120	0.00	0
		Provision of 1 lifeguard during operating hours (2 hours)	4	30.00	120	0.00	0
		Provision of 1 lifeguard during operating hours (min. 3 hours)	4	30.00	120	0.00	0
		Management & Manpower Services at NTU North Hill Gym Year 1	12	60,000.00	720000	0.00	0
		Provision of 1 lifeguard during operating hours (per month)	4	3,660.00	14640	0.00	0
		Option: Management & Manpower Services at NTU North Hill Gym Year 3	12	60,000.00	720000	0.00	0
		Provision of 1 lifeguard during operating hours (1 hour)	4	30.00	120	0.00	0
		Provision of 1 lifeguard after operating hours (1 hour)	4	30.00	120	0.00	0
		Management & Manpower Services at NTU North Hill Gym Year 2	12	60,000.00	720000	0.00	0
		Option: Management & Manpower Services for Lifeguarding Duties at NTU Swimming Pool Year 4	12	259,200.00	3110400	0.00	0

Awarded	Supplier	Event - Lot Title	Bid Quantity	Price (SGD)	Total Bid (SGD)	Awarded Quantity (SGD)	Awarded Spend (SGD)
N		Management & Manpower Services for Lifeguarding Duties at NTU Swimming Pool	40	050 000 00	0440400	0.00	<u>^</u>
No	Abvolution Wellness	Year 1	12	259,200.00	3110400	0.00	0
		Option: Management & Manpower Services at NTU North Hill Gym Year 4	12	60,000.00	720000	0.00	0
		Option: Management & Manpower Services for Lifeguarding Duties at NTU					
		Swimming Pool Year 3	12	259,200.00	3110400	0.00	0
		Management & Manpower Services for Lifeguarding Duties at NTU Swimming Pool					
	SWIMWERKS ASIA PTE. LTD.	Year 2	12	259,200.00	3110400	0.00	0
		Provision of 1 lifeguard after					
		operating hours (2 hours)	4	30.50	122	0.00	0
		Provision of 1 lifeguard after operating hours (min. 3 hours)	4	25.50	102	0.00	0
		Provision of 1 lifeguard during operating hours (2 hours)	4	30.50	122	0.00	0
		Provision of 1 lifeguard during operating hours (min. 3 hours)	4	25.50	102	0.00	0
		Management & Manpower Services at NTU North Hill Gym Year 1	12	7,735.00	92820	0.00	0
		Provision of 1 lifeguard during operating hours (per month)	4	7,462.00	29848	0.00	0
		Option: Management & Manpower Services at NTU North Hill Gym Year 3	12	8,190.00	98280	0.00	0
		Provision of 1 lifeguard during operating hours (1 hour)	4	50.50	202	0.00	0
		Provision of 1 lifeguard after operating hours (1 hour)	4	50.50	202	0.00	0

Awarded	Supplier	Event - Lot Title	Bid Quantity	Price (SGD)	Total Bid (SGD)	Awarded Quantity (SGD)	Awarded Spend (SGD)
No	SWIMWERKS ASIA PTE. LTD.	Management & Manpower Services at NTU North Hill Gym Year 2	12	7,735.00	92820	0.00	0
		Option: Management & Manpower Services for Lifeguarding Duties at NTU Swimming Pool Year 4	12	21,294.00	255528	0.00	0
		Management & Manpower Services for Lifeguarding Duties at NTU Swimming Pool		21,201.00	200020		Ŭ
		Year 1	12	20,280.00	243360	0.00	0
		Option: Management & Manpower Services at NTU North Hill Gym Year 4	12	8,190.00	98280	0.00	0
		Option: Management & Manpower Services for		0,100100			·
		Lifeguarding Duties at NTU Swimming Pool Year 3	12	21,294.00	255528	0.00	0
		Management & Manpower Services for Lifeguarding Duties at NTU Swimming Pool					
		Year 2	12	20,280.00	243360	0.00	0